IM-T-223c ‘10.04

—
Surface-Mounting BKK-A/BKK-A-D Inclination Transducer

INSTRUCTION MANUAL

Thank you for purchasing this KYOWA product. Before using it,
read this instruction manual carefully. Also, keep the manual
within easy reach so that you can refer to it whenever necessary.

1. Calling the operator's attention

The following cautionary headline is used to invite the operator's
attention. Be sure to observe the accompanying precautions in
order to safeguard the operator and preserve the performance
of the instrument.

Caution! Be sure to observe the accompanying in-

structions. Failure to observe these in-
structions may cause troubles or may not
ensure correct operation.

2. Product configuration

The BKK-A Surface-Mounting Type Inclination Transducer is
complete with the units listed below. Make sure that all these are

included in the package.
Inclincation transducer ..........ce.... |
Test data sheet........cccoenvvcriinnncnciennns 1 (2 for biaxial type)
Warranty card .........ccceeveeencrvrecnienncns 1
Instruction manual .........ccceeecenverneness A
WING NUE ot 1

3. H,andling precautions

3.1 For installation and transportation, read '5. Installation”
carefully and be sure to observe cautionary mstruc’uons
described there.

3.2 Do not disassemble nor remodel the BKK-A.

3.3 Do not pull, bend nor twist the cable forcibly.

3.4 Do not drop the mainframe. Do not give any significant
impact to the mainframe. ‘

3.5 When making the stopper mechanism ineffective or effec-
tive, be sure to place the mainframe in horizontal condition.

3.6 With the stopper mechanism made ineffective for measure-
ment, do not give any inclination exceeding the rated capac-
ity of 120% to the mainframe. If you do so, the BKK-A may
not operate correctly. Also, with the stopper mechanism
made ineffective, do not throw it down sideways nor turn it
upside down.

3.7 With the stopper mechanism made effective for transporta-
tion or storage, avoid putting the mainframe sideways or
upside down for a long period of time.

3.8 The responsibility (time from inclination to stabilization of

~ output) of the inclination transduder depends on operating
environments. It may be 10 to 20 minutes maximum.
Therefore, it cannot be used with a dynamic strain amplifier

- for measurement of quick inclination.

4. Parts identification

4.1 Sample installation

Screw rod

Mainframe

M10 nut

Measurmg
object

M10 hex. bolt

Cable fixing band M10 bolt

Fig. 1

3-M10 hex. nut 15-M10 nut

15-washer

3-M10 boit ‘H

(with bolts and nuts attached)

3-@11 drill screw

3

80mm

10mm

100mm

]
v
|

4mmg countersmkmg :

Gain direction

Fig. 2 Sample of mounting table

- CIKYOWA

KYOWA ELECTRGNIC INSTRUMENTS €0., LTD.



4.2 Monoaxial Type (BKK-A-1, BKK-A-2) External View

Marking to indicate 90°

Condition

A size

against sensing direction

When measuring | Approx. 7mm

In transit 0
A section - size
Asize 2891 0.3mm2, 4-conductor shielded chloroprene 3m, 7.6mm
(10) ¥ ] , .
: B i | 2
H I - é‘] E
o { . t
S R g { (L
| ,
- Cable fixing band
o - bbbl
2 —= Q A
2 ) it | * Lha )
20 e o 10
s 214041 = = =
For installation /
~ 3-Mi0 anchorbolti- -
4.3 Biaxial Type (BKK-A-1-D, BKK-A-2-D) External View
Marking to indicate
5120:+1 X axis' sensing direction Y axis' cable
e
TS
Marking to indicate , >
Y axis' sensing direction / ‘\ \ Condition A size
‘ P, 750 ] - When measuring | Approx. 7mm
M4 tap ~ in transit” 0
EE— \ /
\ , A section - size
~__l. ' ':
g =
@ 280-+1 Cable nameplate \__X axis' cable
= n
2 2 Lo

0.3mm2, 4-conductor shielded
chloroprene 3m, g7.6mm

218:+1
T Ez/]
2 B
- o\ -
196:+1 \\

EFH]
e
¥

: Cabile fixing band

] ¥
o 11 By
H g 4
© £, . e 3,

LA B 1

1y 3 Te2? o>t g
. " 21401
For installation /

3-M10 anchor bolt



5. Installation

5.1 About stopper mechanism
The BKK-A is equipped with a stopper mechanism. The
mechanisim prevents the internal structure from damaging
due to the strong impact and vibration the BKK-A may
receive during transportation and installation/removal. When
letting it measure inclination, cancel the stopper mecha-
nism. When transporting or installing/removing it, let the

~ stopper mechanism function.

5.2 Cancelling stopper mechanism for measurement
Make sure the BKK-A is installed and fixed in horizontal
condition. Then turn the knurled knob to the right. You will
see a red mark at the root of the screw rod which will come
out from the center of knurled knob. (See Fig. 3.) '
Fully elevate the screw rod and tighten the knurled knob.
The stopper mechanism will be cancelled.

Caution!

@ Before installing the BKK-A, be sure to make the
stopper mechanism effective. If you move the BKK-
A with the stopper mechanism cancelled, it may get
out of order or may be damaged.

@ Be sure to check the BKK-A is installed in horizontal
condition before cancelling the stopper mechanism.

® Turn the knurled knob gently.

@ If the red mark is seen, normal operation is not
possible unless the screw rod is elevated to the
uppermost position or the knurled knob is tightened.

@ |f the BKK-A is installed in a place where it constantly
receives fine vibration, tighten the knurled knob by
screwing the accessory wing nut to the end of screw
rod so that the knurled knob may not turn due to the
fine vibration. (See Fig. 5.)

5.3 Making the stopper mechanism effective for installation/
removal, transportation or storage
Place the BKK-A in horizontal condition. Turn the knurled
knob to the left to let the screw rod descend until it is hidden
in the knurled knob. The stopper mechanism will be effec-
tive to protect the internal structure.

Screw rod
Knurled knob

Red mark seen

Fig. 3 Conditions the sloppér mechanism is cancelled  Fig. 4 Conditions the stopper mechanism is effective

Screw rod hidden

Caution!

@® Be sure to make the stopper mechanism effective
with the BKK-A placed in horizontal condition.

@ Turn the knurled knob gently.

® Do not hold up nor incline the BKK-A while turning
the knurled knob. .

@ Never transport nor move the BKK-A with the screw
rod coming out from the knurled knob. .

® When the wing nut is not in use, keep it in place with
the dedicated retaining screw so that it may not be
lost. (See Fig. 4.)

5.4 Installation ,

(1) Make sure the stopper mechanism is effective, that is,
the screw rod at the top is wholly hidden. If it comes out
from the knurled knob, let it descend by turning the
knurled knob to the left (refer to 5.3).

(2) Prepare the mounting table and fix it onto the measuring
object in advance (see Figs. 1 and 2).

If desired, you can get the mounting table from Kyowa.

(3) The gain direction of BKK-A is decided by the marking
on the flange (see Fig. 4.2, 4.3). Making sure of the gain
direction, pass the M10 bolt of mounting table through
the U-notch on the flange of BKK-A. Then temporarily fix
the mainframe with the M10 nut and washer (see Fig. 1).

(4) Put a level on the top or the flange of BKK-A and adjust
the M10 nut up and down so that the BKK-A is placed in
horizontal condition. (Leave the mainframe as fixed
temperarily.)

Caution!

® If you install the BKK-A in a place where it may be
splashed with water or oil or where it is exposed to
the direct sunlight, put an air-permeable cover on the
mainframe.

Wing nut

Wing nut retaining screw

Fig. 5 Wing nut tightened



6. Connection \
6.1 Connect the BKK-A to the strain amplifier.

6.2 If you use the NDIS connector, connect the transducer -

cable as follows.

Inclination
Shield (Shield is not connected transducer
B Groen Xyl mainframe.) +Green

J’—Whitg_ Outxlaut
[\—Black

i

”. . I+Red lnp'ut

Caution!

® The recommended applied voltage is 1 to 2Vac/dc.
An applied voltage beyond the recommended value
may not let the BKK-A perform to the specifications.

® The allowable applied voltage is 10Vac/dc. Do not
apply any voltage exceeding 10V.

6.3 Turn the strain amplifier on. While observing the reading

on the strain amplifier, perform the fine adjustment of
horizontal condition of the mainframe by turning the M10
nut on the mounting table.
The BKK-A is placed in horizontal condition if the reading
on the strain amplifier is equal to or near the initial
unbalance stated in the test data sheet. Then tighten all
M10 nuts to fix the mainframe onto the mounting table.

Angle = Bridge output voltage in uV
Bridge excitation voitage in V

X (Calibration factor in degrees/1uV/V)

8. Storage precautions and inspection

8.1 When storing the BKK-A, make the stopper mechanism
effective referring t0 5.3..

Put the protective vinyl cap on the tip of cable as when
delivered from the factory. '
Store the BKK-A in a cold dark place where it may not be
splashed with water and oil. The place should be free of
vibration and impact.

Avoid storing it for a long period of time by throwing down
sideways or with the upside down. Such an adverse condi-
tion may cause troubles and damage.

8.2 If the initial unbalance or a reading seems abnormal,
measure the input/output resistance and the insulation
resistance. They shall be 350Q +1% and 100MQ mini-
mum, respectively. If not, the transducer element or other
related component may be defective. Contact your Kyowa
service representative for inspection and repair.

Note: When measuring the insulation resistance, an ap-
plied voitage to the insulation resistance meter should
be lower than 50V.

9. Specifications

6.4 Set the strain amplifier and other measuring system com- Model |Rated capacity |Mass, approx. | Meas. direction
ponents and start measurement. BKK-A-1 +1° Bkg
= Monoaxial
. BKK-A-2 £2° 5.5kg
1. Conversion BKK-A-1-D|  #1° 6.8kg Biaxial
7.1 To convert the reading on the measuring instrument to the BKK-A-2-D +2° 6.3kg

angle, use the calibration factor stated in the test data
sheet.

7.2 1f you use a strain amplifier, it displays the detected value
in e x10-8 equivalent strain. To obtain the angle detected by
the BKK-A, multiply the reading by the angle corresponding
to 1 x10° which is stated in the test data sheet.

Angle = (Output of strain amplifier ine x10-%)
x (Calibration factor in degrees/1x10%)

7.3 If you use a measuring instrument other than a strain
amplifier or a recorder, you need to accurately measure the
bridge excitation voltage, since the calibration factor stated
in the test data sheet, that is, the angle corresponding to
the 1uV output voltage is based on the bridge excitation
voltage of 1V. To obtain the angle detected by the BKK-A,
multiply the reading by the angle corresponding to the fuV
output voltage.

Aliowable overload: 120%

Rated output (minus rated capacity to plus rated capacity)
BKK-A-1,BKK-A-1-D: 2mV/V (4000 x10°® strain) min.
BKK-A-2,BKK-A-2-D: 3mV/V (6000 x108 strain) min.

Non-linearity: Within 20.5%R0

Hysteresis: Within £0.5%R0

Recommended applied voltage: 1 to 2Vac/dc

Allowable applied voltage: 10Vac/dc

Input resistance: 350Q +1%

Output resistance: 350Q +1%

Guaranteed temperature range: ~10°C to +60°C

Aliowable temperature range: ~20°C to +70°C

Temperature effect on zero: Within £0.005%R0/°C

Temperature effect on output: Within +0.02%/°C

Interference: ¥1%R0 or less (biaxial type only)

Cable:

Four 0.3mm? conductors with chroloprene shielding wire,
3m long, 7.6mm diameter, terminated with bare.conduc-
tors '

Enclosure: Chromate plated

Protection class: IP56

KYOWA
KYOWA ELECTRONIC.INSTRUMENTS CO., LTD.
Overseas Department:

Address : 2-4-3, Hiiotubashi, Chiyoda-ku, Tokyo 101-0003 Phone:03-5226-3553 Fax:03-5226-3566



BKIK-A/BKIK-A-DEI &2

ZORUHARREBEV EPCREEELTHY LT
SV, THEAOMICIIAEEZ LT BEAT SV 2.8

FARo7HLiF VOTHIRONDBLIAITLTRELT

Tawv,

T BRRREFOT — o7

THEAOFOREERICHET 2 EELFECLRERRICHAT
AEHICRY -7 2T TRBL TV ETOT LT BRAT
AR

I== BWELZVESIICTHEDDEERELL
EESEADOEEFERLTVET,
HTBFHEAT IV,

IM-T-223¢ 10.04

BEERET e

2. NEY

TRONENIH S &k THET &0,
REDMENE 14

.EFERALEOER

3.1 B RUBE),ERFEICOVWTEIS. B FHiT]%2 &
K BRADEEEFEEATFVELTHEAT SV,

32 REEZGHBUELRZVWTT SV,

33 F—7 NV EBIIBE- L VIFVEMIT -0 hALo 0 L
BVTTFEW,

34 REAETERL) KERHEEEL2VTTEV,

35 A M MERBERUA by s MEBI O LEARBER
FREHZ L TITo TT &V, ~ :

3.6 A b v SEREIKEE GHAIRS) Tl BB D120% 2B X
BEMESZLZOTTEVERBEBELZVIEFDHY
FFoF APy RBRRETHEA L HSEE L2

CTT &, '

37 A by SEERIREE (B% /RER) T REHOEE L B
BEIBITTE,

3.8 ABROIEHEH L TrOHBAPFERETH I TORREO

ﬁﬁ&ﬁ% 1%]3 (2§ﬂi5’ ’f 7°‘i2:ux|§) %:) ‘i1§mﬁfﬁb:l - T%& V) i'@‘ﬂg“%kf‘]()ﬁ}~2oﬁ\
REEE i TTEHUOTAAERZ LICL 5. X 0EWERAIZE IR
Wk EHE B CEFE A ,
HLryFv b UME
4. JLER - BB Th
4.1 FREHI _ |
3-M10AAFEN b 15-M10% v +
hiOy F

fEEAL

M10F v b !

ol

M107< B A b L ooE T HEED

r—JNEEN K

’_ -'.'.':\ﬁﬁﬁ?Maw)EB
N BRI A

M1 b

3-M10KJV b

30

fim
— # ._l.-__...._.ﬂ_u-
10
100

0 ]
$4IE I t 3-g11%Y

(—)BEHE(+)

TAMETIR{T & OBEHD

E-2

)5 3 FIl B 5



42 1#% 1 7 (BKK-A-1, BKK-A-2) SHER X

=

BESACHLT |
W FMERTY—7| —

912041

BESFAERTY—2(r—TMDT).

AREE A&
EHEiRE | $57mm
Lpedicg 0

ABBSTAETR

0.3mme, 4> ¥~V Foan7 L2 3m, S4E7.6mm

19441

=

=7 WEFEILF

I
~rd

M4z -y 7
. 289:+1
Atk :
(10) - i 5
3
2 A%
N
©
(=]
+l
@
M
) 21401 &
HEH

3-M107 > ARV b

4.3 281 ¥ 1 7 (BKK-A-1-D, BKK-A-2-D) SHERED -

212031

YHOBE ST %
RTT—7

Magy 7
——

XH#OBESAE

RE<—9

(10) Astik

218+1

8+0.5

e
Lpd.
ES

22:

Y — T

B
R

/’?{@7.6mm
5 .
[ (o3
=

0.3mme, 4L Y —A Fooa7L-3m,

SEA
3—-M107 A HI b

REE A&
EHRIEE | H97mm
[ 0

AZBHiER

br— T VBT K




5. V) i1

51 APyt onT
RET % BEIEOB\VVEECREIC L 2 AEBIER
BEC0 A by s EERBRATBN ET,
SHABRE A b v SRR L C ik BEREIX by 3%
EB ST THET &V, '

52 A b v s@BRTE(EHAEE)

C ARBREREBTICRERE LKRFLRRBICL K. O

Ly boFREAMEEED)ICELET,
O—VLvy b2o3A0HL2LHTLARET Y FOBRT
LIRENI DSR2 T& E 4, (K-3)
hitoy FeET&ho—Ly boTazFoOMFITs L,
APy SPBBRERTVSIRETT,

=3

@ BLEEZIT LT P v R EE ST RETT-
TTFEV(R by 2B L-RETRRLED
L REORRICRY 1)

@ A by R ORI REBRLTRFLRETIToT
T&w,

@ u—L vy FOFERDEEHEXEIT. Wo K NIToTT
v, . :

O [FREARATWTH AL Ty FALENYE ST
Wirdokh). 0=y boFAIHOMTLoNT
WhEPoz)THEEELRBENTEILADT,
THEETEV, '

@ FEEREE ) AT ORER. OV FD
FABERENIC LY BT L 2V E ) HEOIS &
39 v MERALT Y FIZEHR T TR UAARORF
TTTF &, (H-5)

53 A by sofeEiE (REER/ Sk B/ RER)
RBERPLRBICL, LEHOO—Ly bOIAEER
BLCRALOY FPETRLL I TTREE. A Py /32
gy s %5, (H-4)

hloy K

FEIHRATWS

(R by 7BRRRIRER

E-3

(R by NEBHIRE

ER

OA Ly NOEBE ABRELTRFICLERET
FoTTFE W,

QUL v bOoFAD[HEEEE. W ViToT
FT&w, -

@U—L vy }OoIADEERR . EEEHL LT
BT ) LEVWTT &V, :

QAL Ty FAZEH LT T DRETOER. BEZ.
WIHITORWTT 8V, '

Ot MY LB Fy PHE BxHF v b
REBOCA (H-H) Iy HERlLiwkHic
LTT%‘/‘O ’

5.4 RRE-EY T
541 RBERICHLRLT Y FA, A by sfegpikiE(oy ¥
FETENTWARE) CHIFLHRELTTE WAL
Oy FPEHLTWABAIXSIEEXSRL. A My /sE
B S BICITOEEZToTT SV,
542 HoHPLOE-2AURT & ) RESETIRAE 2 BELH
BEWCEELTBETT, (B-1)
* ESETI &L, CHZC L ) B TERqz L E T,
543 ABOBEFEIIENE 7 7 v VBICRENIF T X
BICL o TED LR TVE T, (4.2, 435 BHBR) &
EFHEHEI LB ERE 7 5 v VEOUEE ) R &5
FESSFIAEOMIOE NV MIZEL.MI10F v b LES
TRIED L ET, (F-1)
5.4.4 KESEARBOLEED L HMERET 77 v UHo LI
BEBEMI0FTY POLETENICL D ERBFEKRFICHREL T
TEV, (COBLREDICE EDTTEN)

Pt =1
@ K21 K HEND D5 72 ) BT BB

NRET LB EBREDNH B I N -F 2 P RE,
FHlzfT->TTF3Vv,

<5 & 5F v bEEIAE

-5



6.

B RELOEERUMIE

6.1 HEAEE 0T ARERICEELE T,
6.2 NDISEM SN2 27 ¥ 2HATAHEERD &) ITHiR
LET,

/-)bl\ (’J—)b Rl {ERE
TRy BRENTLERA) -
\ _ vl
K
e AT

ER

@ EREMEREIX.1~2V(AC/DC) T HEREZ B
ACOBERAGMAREBRELZVWBEFH ) T,

@ HAEHIMEEIX.10V(AC/DC) T HR/EEE X
AEERMZRZVWTTEN,

63 OTAHHEHRNOERZ AN HEROETELZ R 2P OM
SEEEOMI0F Y PO LETENC L O ARBROKTFZH
%ﬁg LCTT 8 W,

HEBORREIRERESICHARENL TS JOHR
FAHEREE TARBIIAFREL 2o TV I T.£2THMI0
Fv bEHREZELTF 3V,

6.4 OTHBEIER. FOMOEEL AT LDORE

ERBLET,

VGEIE

7. ]88

7.1 AEOREICIREREBEORERET AT,
72 OFTABEREERT 5B HPH e X10-EHO T
HCETRENT T EMOTAIXI0- ST 5 HEIR

BEFEEICEASRTOVETOC.REICL VAEITRD
bhETo
KOHEE (Ufmﬂllm%%@&jj € X1079)

X (BRIEREL " /1X1079)

7.3 ZOMhOMEIER. R EAT B 7Y » VEINE
FExERICE A L BUBEICR ) TTREREEICIXT
Yy VHIMEBEEIVEMZ 2L SOWPDEEL VITHEST
LAEFRAISNTVETOT, %ﬁk LDBENRDS
nEd,

‘ ey TV VHHBEV
*wév?””‘Vvamm%Ev
X (RIERE /1uV/V)

C#HFEFHE S

8.1 FRETHERIZ APy NEERPRBICLTT &V

(5.3 2 b v ROFEENHESR)
r—TVERCREROC= -V F v v T (AR
WTW) 2T TT E v, :
ARBICABEFDPPLRVESITL, ?IEE}J”?@%@&\A
BREFCRELTT IV,
HE LB E TORBRER. L&V"C'Fév‘oﬁil‘%
BHEROERICRY 3,

8.2 WEMEJETREFEE L BEbNABAI ABNIERG00
+1%). MEZIEHT (100MQ L E) 2 fllE L TREVHNIL.
ERMETEORELEZONIE T,

TEENEETREISETER BEEELE T,
EE ERENEHET 258 ORBKIERE O HMERE
50V F CIERAT & v,
9. {1k
& ERAE g2 BIEAR
BKK-A-1 +1° #1 6kg .
BKK-A-2 +2° #15.5kg 1
BKK-A-1-D +1° #76.8kg oHi
BKK-A-2-D +2° #16.3kg
B BA 120%
EREH T BKK-A-1, BKK-A-1-D:

(—BiEk~+EEE  2mV/V(4000X 10~ AH) L L
BKK-A-2, BKK-A-2-D:

3mV/V(6000X 10~ A) L E

SEE bk +0.5%ROLLA

LAFYTVR +0.5%ROLLY

HEREMEE 1~2V(ACE 721DC)

HEEMEE 10V(ACZ 7213DC)

AJHEH 350Q 1%

W 350Q 1%

B EER —10C~60C

HR B EmE —20C~70C

EHOBEFE  £0005%R0/T L\

BHOREEZE  +£002%/C DA

FHE +1%ROLAA Q8 7 1 T D H)

=TV 0.3mm% 40L¥— NV FFZ7 oo 7L ¥ i3m,
SE7.6mm B EZL

Vi3 ZOA—hrRAvF

RIESHR P56

it T8 T182-8520 HNHBGTHEG » £35-1 W5 0424881111



